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%> 8orx< —8are 7 mplete: The inequalities |x| > 8 and

2. WRITING Descripe the differ

,xlz 5 ence between solving ]xl <5 and solving
SOLVING INEQUALITIES Solve the inequality. Graph your solution.
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ERROR ANALYSIS Describe and correct the error in solving the inequality.

21. 292,

I

|x+ 4|>13 |x — 5| < 20
138> x4 > —135 >< Xt D2 6) ><
95> x>—17 x< 25

23. ¢ MULTIPLE CHOICE What is the solution of the inequality
lx — 9] +4>13?

@) x<-8orx=—6 wi0lanoe=43
@F 86 @ 0<x<18

L

T —

TRANSLATING SENTENCES Write the verbal sentence as an inequality. Then
solve the inequality and graph your solution.

24. The absolute deviation of x from 6 is less than or equal to 4.
25. The absolute deviation of 2x from —7 is greater than or equal to 15.
1 the absolute deviation of —4x from 7 is greater than 10.

Sour times the absolute deviation of x from 9 is less than 8.

IPLE CHOICE Whlch inequality is equivalent to x <1 orx>5?
‘ ® 36— 2x|>12

|7 —4x| -9<8
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